# Differentiation with Respect to Parameters of Solutions of Nonlocal Boundary Value Problems for Higher-Order Differential Equations

#### Jeffrey W. Lyons

The Citadel Department of Mathematical Sciences Charleston, SC 29409, USA jlyons3@citadel.edu

#### Abstract

We consider the *n*th-order parameter dependent differential equation satisfying Dirichlet conditions and nonlocal boundary conditions. After imposing continuity and uniqueness conditions, solutions of the boundary value problem are differentiated with respect to the parameter. This new equation is shown to solve a nonhomogeneous boundary value problem similar to the associated variational equation.

#### AMS Subject Classifications: 34B10, 34B15.

**Keywords:** Variational equation, nonlocal boundary condition, continuous dependence, smoothness, Peano theorem, parameter dependence.

# **1** Introduction

Consider the *n*th-order parameter dependent boundary value problem

$$y^{(n)} = \left(x, y, y', y'', \dots, y^{(n-1)}, \lambda\right), \ a < x < b,$$
(1.1)

satisfying the Dirichlet conditions

$$y^{(i-1)}(x_1) = y_i, \ 1 \le i \le n-1$$

and nonlocal boundary condition

$$y(x_2) - \sum_{j=1}^{m} p_j y(\chi_j) = y_n,$$

Received August 18, 2020; Accepted August 23, 2020 Communicated by Paul Eloe

where  $a < x_1 < \chi_1 < \cdots < \chi_m < x_2 < b, p_1, \dots, p_m, y_1, y_2, \dots, y_n \in \mathbb{R}$ . A few hypotheses are imposed upon (1.1):

(H1)  $f(x, u_1, \ldots, u_n, \lambda) : (a, b) \times \mathbb{R}^{n+1} \to \mathbb{R}$  is continuous,

(H2) 
$$\frac{\partial f}{\partial u_i}(x, u_1, \dots, u_n, \lambda) : (a, b) \times \mathbb{R}^{n+1} \to \mathbb{R}$$
 is continuous,  $i = 1, 2, \dots, n_i$ 

(H3) 
$$\frac{\partial f}{\partial \lambda}(x, u_1, \dots, u_n, \lambda) : (a, b) \times \mathbb{R}^{n+1} \to \mathbb{R}$$
 is continuous, and

(H4) solutions of initial value problems for (1.1) extend to (a, b).

*Remark* 1.1. Note that (H4) is not a necessary condition but lets us avoid continually making statements about maximal intervals of existence inside (a, b).

The main motivation for this work is a recent paper by Henderson and Jiang [13] in which the authors considered an *n*th-order parameter dependent difference equation with Dirichlet and nonlocal boundary conditions. Henderson and Jiang imposed continuity conditions upon the nonlinearity and uniqueness assumptions upon solutions of the boundary value problem and the associated variational equation. These conditions allowed the authors to seek a derivative of the solution of the boundary value problem with respect to the parameter. This derivative solved an associated nonhomogeneous equation of the given difference equation.

Research on the relationship between the solution of a differential, difference, or dynamic equation and its associated variational equation is rooted in a result found in Hartman [10] attributed to Peano that discusses initial value problems. Since then, authors have used continuous dependence on boundary value results to establish analogous results for boundary value problems. In the realm of differential equations, one finds results for right–focal problems [11], functional problems [7,8], and nonlocal, multipoint, and integral problems [9, 16, 18, 19, 22]. For difference equations, we point to analogous results to those of differential equations [1,3–6, 12, 15, 20]. Lyons [21] published a second-order dynamic equation result for the  $h\mathbb{Z}$  time scale which was later generalized to a second-order dynamic equation on an arbitrary time scale [2].

In Section 2, the reader will find preliminary definitions, assumptions, and results to include Peano's theorem with a parameter. Section 3 is where our main result is found; an analogue of both Peano's theorem and Henderson and Jiang's theorem.

### 2 Preparatory Work

First, we present the variational equation and a related nonhomogeneous equation followed by Peano's result with a parameter. **Definition 2.1.** Given a solution y(x) of (1.1), we define the variational equation along y(x) by

$$z^{(n)} = \sum_{i=1}^{n} \frac{\partial f}{\partial y_i} \left( x, y, y', \dots, y^{(n-1)}, \lambda \right) z^{(i-1)}.$$
 (2.1)

**Definition 2.2.** Given a solution y(x) of (1.1), an associated nonhomogeneous equation is given by

$$z^{(n)} = \sum_{i=1}^{n} \frac{\partial f}{\partial y_i} \left( x, y, y', \dots, y^{(n-1)}, \lambda \right) z^{(i-1)} + \frac{\partial f}{\partial \lambda} \left( x, y, y', \dots, y^{(n-1)}, \lambda \right).$$
(2.2)

**Theorem 2.3** (parameter Peano). Assume that, with respect to (1.1), conditions (H1)– (H4) are satisfied. Let  $x_0 \in (a, b)$  and let  $y(x) := y(x; x_0, c_1, c_2, ..., c_n, \lambda)$  denote the solution of (1.1) satisfying the initial conditions  $y^{(i-1)}(x_0) = c_i$ , i = 1, ..., n. Then

(A) for each j = 1, ..., n,  $\alpha_j(x) := \frac{\partial y}{\partial c_j}(x)$  exists on (a, b) and is the solution of the variational equation (2.1) along y(x) satisfying the initial conditions

$$\alpha_j^{(i-1)}(x_0) = \delta_{ij}, \ i = 1, \dots, n.$$

(B)  $\beta(x) := \frac{\partial y}{\partial x_0}(x)$  exists on (a, b) and is the solution of the variational equation (2.1) along y(x) satisfying the initial conditions

$$\beta^{(i-1)}(x_0) = -y^{(i)}(x_0), \ i = 1, \dots, n.$$

(C)  $\Lambda(x) := \frac{\partial y}{\partial \lambda}(x)$  exists on (a, b) and is the solution of the nonhomogeneous equation (2.2) along y(x) satisfying the initial conditions

$$\Lambda^{(i-1)}(x_0) = 0, \ i = 1, \dots, n.$$

*Remark* 2.4. The primary focus of this work is differentiation with respect to the parameter  $\lambda$ ; a BVP analogue to part (C) of Peano's theorem. Therefore, we will not consider differentiation with respect to the boundary data. However, the approach is quite similar to that presented here, and we refer the interested reader to the referenced works in the introduction for those details.

Next, we present two uniqueness conditions that allow us to connect initial value problems to boundary value problems. The first assumption applies to (1.1) and second to (2.1).

- (H5) If y(x) and z(x) are solutions of (1.1) such that  $y^{(i-1)}(x_1) = z^{(i-1)}(x_1)$ ,  $i = 1, \ldots, n$  and  $y(x_2) \sum_{j=1}^m p_j y(\chi_j) = z(x_2) \sum_{j=1}^m p_j z(\chi_j)$ , then  $y(x) \equiv z(x)$  on (a, b).
- (H6) Let y(x) be a solution of (1.1) and u(x) be a solution of (2.1) along y(x). Then if  $u^{(i-1)}(x_1) = 0$ , i = 1, ..., n and  $u(x_2) - \sum_{j=1}^{m} p_j u(\chi_j) = 0$ , then  $u(x) \equiv 0$  on (a, b).

We also will make use of continuous dependence on boundary values and parameters. We refer the avid reader to [14, 17] for proof ideas.

**Theorem 2.5** (Continuous dependence on boundary conditions and parameters). Assume (H1)–(H5) are satisfied with respect to (1.1). Let y(x) be a solution of (1.1) on (a, b). Then there exists a  $\delta > 0$  such that, for  $|x_1 - t_1| < \delta$ ,  $|x_2 - t_2| < \delta$ ,  $|p_j - \rho_j| < \delta$ ,  $j = 1, \ldots, m$ ,  $|\chi_j - X_j| < \delta$ ,  $j = 1, \ldots, m$ ,  $|y^{(i-1)}(x_1) - y_i| < \delta$ ,  $i = 1, \ldots, n-1$ ,  $\left| y(x_2) - \sum_{j=1}^m p_j y(\chi_j) - y_n \right| < \delta$ , and  $|\lambda - L| < \delta$ , there exists a

unique solution  $y_{\delta}(x)$  of (1.1) with respect to parameter L such that

$$y_{\delta}^{(i-1)}(t_j) = y_i, \ i = 1, \dots, n-1,$$

and

$$y_{\delta}(t_2) - \sum_{j=1}^{m} \rho_j y(X_j) = y_n.$$

In addition, for i = 1, ..., n,  $\left\{ y_{\delta}^{(i-1)}(x) \right\}$  converges uniformly to  $y^{(i-1)}(x)$  as  $\delta \to 0$  on  $[\alpha, \beta] \subset (a, b)$ .

### 3 Main Result

Now, we present our analogue of Theorem 2.3 with respect to the parameter  $\lambda$ .

Theorem 3.1. Assume conditions (H1)–(H6) are satisfied.

Let  $y(x) = y(x; x_1, x_2, y_1, \dots, y_n, p_1, \dots, p_m, \chi_1, \dots, \chi_m, c, d, \lambda)$  be the solution of (1.1) on (a, b) satisfying

$$y^{(i-1)}(x_1) = y_i, \ i = 1, \dots, n-1,$$

and

$$y(x_2) - \sum_{j=1}^{m} p_j y(\chi_j) = y_n.$$

Then  $L(x) := \frac{\partial y}{\partial \lambda}(x)$  exists on (a, b) and is the solution of the nonhomogeneous equation (2.2) along y(x) satisfying the boundary conditions

$$L^{(i-1)}(x_1) = 0, \ i = 1, \dots, n-1,$$

and

$$L(x_2) - \sum_{j=1}^{m} p_j L(\chi_j) = 0.$$

*Proof.* To ease the burdensome notation and realizing that everything is fixed except x and  $\lambda$ , we denote  $y(x; x_1, x_2, \chi_1, \ldots, \chi_m, y_1, \ldots, y_n, p_1, \ldots, p_m, \lambda)$  by  $y(x; \lambda)$ . Let  $\delta > 0$  be as in Theorem 2.5 with  $0 \le |h| \le \delta$ , and define the difference quotient for  $\lambda$  by

$$L_h(x) = \frac{1}{h} [y(x; \lambda + h) - y(x; \lambda)].$$

First, we substitute the boundary conditions into  $L_h(x)$ . For  $h \neq 0$ ,

$$L_h^{(i-1)}(x_1) = \frac{1}{h} \left[ y^{(i-1)}(x_1; \lambda + h) - y^{(i-1)}(x_1; \lambda) \right]$$
  
=  $\frac{1}{h} [y_i - y_i] = 0, \ i = 1, \dots, n-1,$ 

and

$$L_h(x_2) - \sum_{j=1}^m p_j L_h(\chi_j) = \frac{1}{h} \left[ y(x_2; \lambda + h) - y(x_2; \lambda) \right] - \sum_{j=1}^m \frac{1}{h} \left[ y(x; \lambda + h) - y(x; \lambda) \right]$$
$$= \frac{1}{h} [y_n - y_n] = 0.$$

Next, we show that  $L_h(x)$  is a solution of the nonhomogeneous equation (2.2). To that end, define  $\mu = y^{(n-1)}(x_1; \lambda)$  and  $\nu = \nu(h) = y^{(n-1)}(x_1; \lambda + h) - \mu$ .

Note by Theorem 2.5,  $\nu = \nu(h) \to 0$  as  $h \to 0$ . View y(x) as the solution of an initial value problem at  $x_1$  and use the notation of initial values problems to get  $y(x) = y(x; x_1, y_1, \dots, y_n, \mu, \lambda)$ . Thus, we have

$$L_h(x) = \frac{1}{h} \left[ y(x; x_1, y_1, \dots, y_{n-1}, \mu + \nu, \lambda + h) - y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda) \right].$$

Next, by utilizing telescoping sums to vary only one component at a time, we have

$$L_h(x) = \frac{1}{h} [y(x; x_1, y_1, \dots, y_{n-1}, \mu + \nu, \lambda + h) - y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda + h) + y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda + h) - y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda)].$$

By Theorem 2.3 and the mean value theorem, we obtain

$$L_{h}(x) = \frac{1}{h} [\alpha_{n}(x; y(x; x_{1}, y_{1}, \dots, y_{n-1}, \mu + \bar{\nu}, \lambda + h))(\mu + \nu - \mu) \\ + \Lambda(x; y(x; x_{1}, y_{1}, \dots, y_{n-1}, \mu, \lambda + \bar{h}))(\lambda + h - \lambda)] \\ = \frac{\nu}{h} \alpha_{n}(x; y(x; x_{1}, y_{1}, \dots, y_{n-1}, \mu + \bar{\nu}, \lambda + h)) \\ + \Lambda(x; y(x; x_{1}, y_{1}, \dots, y_{n-1}, \mu, \lambda + \bar{h})),$$

where  $\alpha_n(x; y(x; x_1, y_1, \dots, y_{n-1}, \mu + \bar{\nu}, \lambda + h))$  solves the variational equation (2.1) and  $\Lambda(x; y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda + \bar{h}))$  solves the nonhomogeneous equation (2.2). Furthermore,  $\mu + \bar{\nu}$  is between  $\mu$  and  $\mu + \nu$  and  $\lambda + \bar{h}$  is between  $\lambda$  and  $\lambda + h$ .

Furthermore,  $\mu + \bar{\nu}$  is between  $\mu$  and  $\mu + \nu$  and  $\lambda + \bar{h}$  is between  $\lambda$  and  $\lambda + h$ . Thus, to show  $\lim_{h \to 0} L_h(x)$  exists, it suffices to show,  $\lim_{h \to 0} \frac{\nu}{h}$  exists. Recall, from the construction of  $L_h(x)$ , we have

$$L_h^{(i-1)}(x_1) = 0, \ i = 1, \dots, n-1,$$

and

$$L_h(x_2) - \sum_{j=1}^m p_j L_h(\chi_j) = 0$$

From the latter condition, we have

$$\frac{\nu}{h}\alpha_n(x_2; y(x; x_1, y_1, \dots, y_{n-1}, \mu + \bar{\nu}, \lambda + h)) + \Lambda(x_2; y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda + \bar{h}))$$
  
$$- \sum_{j=1}^m p_j \Big[ \frac{\nu}{h} \alpha_n(\chi_j; y(x; x_1, y_1, \dots, y_{n-1}, \mu + \bar{\nu}, \lambda + h)) + \Lambda(\chi_j; y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda + \bar{h})) \Big] = 0.$$

Solve for  $\frac{\nu}{h}$  to get

$$\frac{\nu}{h} = \frac{-\Lambda(x_2; y(\cdot)) + \sum_{j=1}^m p_j \Lambda(\chi_j; y(\cdot))}{\alpha_n(x_2; y(\cdot)) - \sum_{j=1}^m p_j \alpha_n(\chi_j; y(\cdot))}.$$

Since  $\alpha_n^{(n-1)}(x_1; y(x; x_1, y_1, ..., y_{n-1}, \mu, \lambda)) = 1$ , we have

$$\alpha_n(x; y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda)) \neq 0.$$

Coupled with hypothesis (H6),

$$\alpha_n(x_2; y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda)) - \sum_{j=1}^m p_j \alpha_n(\chi_j; y(x; x_1, y_1, \dots, y_{n-1}, \mu, \lambda)) \neq 0.$$

By Theorem 2.5 and for sufficiently small h, we have

$$\alpha_n(x_2; y(x; x_1, y_1, \dots, y_{n-1}, \mu + \bar{\nu}, \lambda + h)) - \sum_{j=1}^m p_j \alpha_n(\chi_j; y(x; x_1, y_1, \dots, y_{n-1}, \mu + \bar{\nu}, \lambda + h)) \neq 0$$

implying  $E := \lim_{h \to 0} \frac{\nu}{h}$  exists. Hence, we have

$$L(x) = \frac{\partial u}{\partial \lambda} = \lim_{h \to 0} L_h(x) = E\alpha_n(x; y(x)) + \Lambda(x; y(x))$$

exists on (a, b) and solves the nonhomogeneous equation (2.2).

Finally, we have

$$L^{(i-1)}(x_1) = \lim_{h \to 0} L_h^{(i-1)}(x_1) = \lim_{h \to 0} 0 = 0, \ i = 1, \dots, n-1,$$

and

$$L(x_2) - \sum_{j=1}^m p_j L(\chi_j) = \lim_{h \to 0} \left[ L_h(x_2) - \sum_{j=1}^m p_j L_h(\chi_j) \right] = \lim_{h \to 0} 0 = 0.$$

Therefore, L(x) is the solution to the nonhomogeneous equation (2.2) satisfying

$$L^{(i-1)}(x_1) = 0, \ i = 1, \dots, n-1 \text{ and } L(x_2) - \sum_{j=1}^m p_j L(\chi_j) = 0$$

This concludes the proof.

## Acknowledgements

The author dedicates this article to Johnny Henderson who has been a tremendous influence to him and to the field. The area of boundary data smoothness would be nonexistent without your great contributions. Thank you for all that you do and happy birthday!

### References

- [1] Douglas R. Anderson, Richard I. Avery, Johnny Henderson, X. Liu, and Jeffrey W. Lyons. Existence of a positive solution for a right focal discrete boundary value problem. *J. Difference Equ. Appl.*, 17(11):1635–1642, 2011.
- [2] Lee H. Baxter, Jeffrey W. Lyons, and Jeffrey T. Neugebauer. Differentiating solutions of a boundary value problem on a time scale. *Bull. Aust. Math. Soc.*, 94(1):101–109, 2016.

- [3] Mouffak Benchohra, Samira Hamani, Johnny Henderson, Sotiris K. Ntouyas, and A. Ouahab. Differentiation and differences for solutions of nonlocal boundary value problems for second order difference equations. *Int. J. Difference Equ.*, 2(1):37–47, 2007.
- [4] Mouffak Benchohra, Johnny Henderson, Rodica Luca, and Abdelghani Ouahab. Boundary data smoothness for solutions of second order ordinary differential equations with integral boundary conditions. *Dynam. Systems Appl.*, 23(2-3):133– 143, 2014.
- [5] Anjali Datta. Differences with respect to boundary points for right focal boundary conditions. J. Differ. Equations Appl., 4(6):571–578, 1998.
- [6] Anjali Datta and Johnny Henderson. Differences and smoothness of solutions for functional difference equations. In *Proceedings of the First International Conference on Difference Equations (San Antonio, TX, 1994)*, pages 133–142. Gordon and Breach, Luxembourg, 1995.
- [7] Jeffrey Ehme, Paul W. Eloe, and Johnny Henderson. Differentiability with respect to boundary conditions and deviating argument for functional-differential systems. *Differential Equations Dynam. Systems*, 1(1):59–71, 1993.
- [8] Jeffrey Ehme and Johnny Henderson. Functional boundary value problems and smoothness of solutions. *Nonlinear Anal.*, 26(1):139–148, 1996.
- [9] John Ehrke, Johnny Henderson, Curtis Kunkel, and Qin Sheng. Boundary data smoothness for solutions of nonlocal boundary value problems for second order differential equations. *J. Math. Anal. Appl.*, 333(1):191–203, 2007.
- [10] Philip Hartman. Ordinary differential equations. John Wiley & Sons, Inc., New York-London-Sydney, 1964.
- [11] Johnny Henderson. Right focal point boundary value problems for ordinary differential equations and variational equations. J. Math. Anal. Appl., 98(2):363–377, 1984.
- [12] Johnny Henderson, Mark Horn, and Laura Howard. Differentiation of solutions of difference equations with respect to boundary values and parameters. *Comm. Appl. Nonlinear Anal.*, 1(2):47–60, 1994.
- [13] Johnny Henderson and Xuewei Jiang. Differentiation with respect to parameters of solutions of nonlocal boundary value problems for difference equations. *Involve*, 8(4):629–636, 2015.

- [14] Johnny Henderson, Basant Karna, and Christopher C. Tisdell. Existence of solutions for three-point boundary value problems for second order equations. *Proc. Amer. Math. Soc.*, 133(5):1365–1369, 2005.
- [15] Johnny Henderson and Linda Lee. Continuous dependence and differentiation of solutions of finite difference equations. *Internat. J. Math. Math. Sci.*, 14(4):747– 756, 1991.
- [16] Johnny Henderson and Christopher C. Tisdell. Boundary data smoothness for solutions of three point boundary value problems for second order ordinary differential equations. Z. Anal. Anwendungen, 23(3):631–640, 2004.
- [17] Steven K. Ingram. Continuous dependence on parameters and boundary data for nonlinear two-point boundary value problems. *Pacific J. Math.*, 41:395–408, 1972.
- [18] Alfredo F. Janson, Bibi T. Juman, and Jeffrey W. Lyons. The connection between variational equations and solutions of second order nonlocal integral boundary value problems. *Dynam. Systems Appl.*, 23(2-3):493–503, 2014.
- [19] Jeffrey W. Lyons. Differentiation of solutions of nonlocal boundary value problems with respect to boundary data. *Electron. J. Qual. Theory Differ. Equ.*, pages No. 51, 11, 2011.
- [20] Jeffrey W. Lyons. Disconjugacy, differences and differentiation for solutions of non-local boundary value problems for *n*th order difference equations. J. Difference Equ. Appl., 20(2):296–311, 2014.
- [21] Jeffrey W. Lyons. On differentiation of solutions of boundary value problems for second order dynamic equations on a time scale. *Comm. Appl. Anal.*, 18(2014):215–224, 2014.
- [22] Jeffrey W. Lyons, Samantha A. Major, and Kaitlyn B. Seabrook. Continuous dependence and differentiating solutions of a second order boundary value problem with average value condition. *Involve*, 11(1):95–102, 2018.